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CID        Sec.            Pg.          Ln.             Comment                        Proposal                      Proposed Resolution

	6144
	20.3.21.1
	313
	4
	This figure is drawn incorrectly with regard to the axis scales.  For the x-axis, the value between 9 and 11 would be 10, and then the 20 and 30 points should be 2x and 3x that distance respectively.  For the y-axis values, taking the -20 distance as a base, the -28 and -45 points should be 1.4x and 2.25x that distance respectively.  The x-axis 20 and 30 points are in error.  The y-axis -45 point is in error.  The y-axis -28 point is substantially wrong.  This dramatically alters the shape of the resulting curve from its true form.
	Correct the axis scaling and redraw the curve to more accurately illustrate the true shape of the spectral mask.
	Counter. 


Suggested resolution: Counter. 

TGn Editor: on page 312, line 40, add the following NOTE:

NOTE 1 - In the presence of additional regulatory restrictions, the device must meet both the regulatory requirements and

the mask defined here – i.e., its emissions must be no higher at any frequency offset than the minimum of the values

specified in the regulatory and default masks.

NOTE 2 – The transmit spectral mask figures in this section are not drawn to scale. 
	6167
	20.3.21.7.4
	316
	21
	"..multiply the vector by a zero-forcing equalization matrix generated from the channel estimated during the channel estimation phase." Why to specify zero-forcing eq here? 
	Modify the text as follows: ""..multiply the vector by an equalization matrix generated from the channel estimated during the channel estimation phase." 
	Reject. Zero forcing receiver was specified so that sophisticated receivers are not used that can decrease measured EVM. 


	6168
	20.3.22.6
	319
	34
	"The received power shall be the average of the power in all active receive chains." Linear or dB average?
	Modify sentence as follows: "The received power shall be the linear average of the power in all active receive chains." 
	Withdrawn by the commenter (Vinko Erceg).


	6165
	20.3.12.2.1
	303
	65
	"The CSI matrix, , shall be determined from the transmitter spatial mapper input to the receiver FFT outputs (the beamformee removes the CSD in Table 20-9 from the measured channel matrix)." Make two sentences out of this sentence and use "shall" statement. 
	Modify the text as follows: "The CSI matrix, , shall be determined from the transmitter spatial mapper input to the receiver FFT outputs. The beamformee shall remove the CSD in Table 20-9 from the measured channel matrix."
	Accept.


Suggested resolution: Accept. 

TGn Editor: on page 303, line 65, modify the text as follows:

“The CSI matrix, Heff, shall be determined from the transmitter spatial mapper input to the receiver FFT outputs.
(t The beamformee shall removes the CSD in Table 20-9 from the measured channel matrix).”
	6191
	20.3.13.3
	310
	10
	In D3.0 comment resolution, we have made sounding with MRQ mandatory in clause 9.18.2 (see page 160, line 8), but forgot to update the PHY part in clause 20.3.13.3. Basically MRQ shall be sent using sounding packet.
	change "should" to "shall"
	Coutner. More detail with “shall” statement is given in section 9.18.2. We propose to refer to that section and change “should be“ to “is” in the sentence. 


Suggested resolution: Counter. 

TGn Editor: on page 310, line 10, modify the text as follows:

“To enable this calculation, the MCS request should be is sent in conjunction with a sounding PPDU (see 9.18.2).”
	6166
	20.3.13.3
	310
	13-18
	"The STA sending the MCS request (STA A) determines how many HT-LTFs to send, and whether to use extension HT-LTFs or an NDP, based on the number of space time streams used in the PPDU carrying the MCS request, the number of transmit chains it is using (N_TX ), whether or not the transmit and receive STAs support STBC, and in some cases, the number of receive chains at the responding STA (N_RX )." It also depends on the sounding capabilities of the receiver and the transmitter (NDP or E-LTF support). 
	As in comment.
	Coutner.


Suggested resolution: Counter. 

TGn Editor: on page 310, lines 13-18, modify the text as follows:

“The STA sending the MCS request (STA A) determines how many HT-LTFs to send, and whether to use extension

HT-LTFs or an NDP, based on the Transmit Beamforming Capabilities field, number of space time streams used in the PPDU carrying the MCS request, the number of transmit chains it is using ( NTX), whether or not the transmit and receive STAs support STBC, and in some cases, the number of receive chains at the responding STA (NRX ).”
	6327
	20.3.11.8.1
	291
	33
	STBC mandatory at AP:  The capability to transmit of STBC frames should be mandatory at the AP.  For the "new" application of VoIP phones with a single antenna, this feature should be required to provide some range improvement over 802.11g.

The argument for rejection in LB87 (c.f. Doc. 11-07/2823r4) for this comment is that STBC is lumped in with LDPC, BeamForming, short GI and other PHY options that add complexity.  I can understand the latter three examples but not STBC as adding as an example of adding a great deal of complexity.

The other reason given for rejection is that if one optional feature is made mandatory to increase performance, why not them all.  My response is that the complexity criteria mentioned above should be considered on a case-by-case basis.  I do buy the argument on LDPC, TxBF, short-GI, etc.
	Change "optional" to "mandatory" here.
	Reject. 
Straw poll to keep STBC as an optional feature (Yes 9/No 0).
Reason for rejection: 
STBC implementation does carry HW, FW, SW and testing burdens and it is implementers choice to include it or not in their design. 


	6162
	20.3.11.10.1
	295
	6
	Add the following sentence to the case 2): "In this case, the smoothing bit should be set to the 95 percent energy rule defined later in this section".
	As in comment.
	Reject. Reason for rejection: the 95% energy rule is general and it includes CSD matrix case.


	6161
	20.3.11.10.1
	295
	1
	Add the following sentence to the case 1): "In this case, the smoothing bit should be set to 1".
	As in comment.
	Counter, accept in principle.


Suggested resolutio: Counter, accept in principle. 

TGn Editor: on page 296, line 57, add the following sentence:

“In the case of the indentity matrix Direct Mapping, the smoothing bit should be set to 1.”
	6163
	20.3.11.10.1
	295
	8-14
	b) Spatial Expansion, case 1): this example is unclear. Q_k is square so where is the spatial expansion?
	Please clarify or correct the text.
	Counter.


Suggested resolution: Counter. 

TGn Editor: on page 295, lines 10-13, delete the following sentence (and change the numbering of the paragraphs below):

“1) Qk may be the product of a CSD matrix and a square unitary matrix such as the Hadamard

matrix or the Fourier matrix.”  

”
TGn Editor: on page 295, after line 5, add the following sentence( and change the letters of the paragraphs below:

“b) Indirect Mapping: Qk may be the product of a CSD matrix and a square unitary matrix such as the Hadamard
matrix or the Fourier matrix.”
	6152
	20.3.3
	254
	33
	Note in Fig 20-3 says: "—When spatial multiplexing is used, there may be more outputs than inputs." Outputs and inputs of which block?
	Maybe it is best to remove this sentence.
	Counter.


Suggested resolution: Counter. 

TGn Editor: on page 254, line 33, modify the following sentence:

—When spatial multiplexing is used, there may be more outputs than inputs.
—When spatial mapping is used, there may be more transmit chains than space time streams.
	6154
	20.3.5
	258
	1-4
	Only few MCSs are used with STBC.
	Clarify in the text. 
	Reject. Reason for rejection: The text refers to the Table 20-17 which is clear about which MCS values are used with STBC.



	6156
	2.3.9.3.2
	265
	31-33
	"With more than four transmit chains, each cyclic shift on the additional transmit chains shall not be less than
-200 ns nor greater than 0 ns." In this sentence meaning "… less than -200ns" may not be clear. 
	Modify the sentence as follows: "With more than four transmit chains, each cyclic shift on the additional transmit chains shall not be less than

-200 ns nor greater than 0 ns, i.e. in the -200 ns to 0 ns range".
	Counter.


Suggested resolution: Counter. 

TGn Editor: on page 265, line 31-32, modify the text as follows:

"With more than four transmit chains, each cyclic shift on the additional transmit chains shall be between -200 ns and 0 ns inclusive.”
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